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Section A

Choose the correct pronoun:

| don’t know name but lknow
a) your, hers

b) your, her

c) yourself, himself

d) her, your

[1]

Choose the correct pronoun:
We are not aspoor as

a) us

b) them

o)l

d) they

[1]

Choose the correct adjective for the given sentence:
There were students in class.

a) much

b) some

c) more

d) many

[1]




Which of the following is a qualitative adjective?
a) Him
b) Neat
c) Half

d) That

[1]

Choose the correct verb:

He sat there for three hours.
a) do

b) be

c) does

d) has

[1]

She has (insult) the boy.
a) insulting

b) insulted

c) insults

d) insult

[1]

Choose the correct helping verb:
Tyler did not study for the test yet.
a) study

b) not

c) did

d) yet

[1]

Choose the correct helping verb:
he at home?

a) there

b) is

c) are

d)am

[1]

Section B

Why was Rama Natha angry?

[1]

10

How does Reynard make the Raven sing?

[1]




11

Punctuate the following sentences and write whether they are exclamatory or interrogative
sentences.

1. Wow, what an intelligent man he is
2.  Ohhow big the hole is
3. Do you like to read comic books

4. What is your favourite story

[1]

12

Do you think Buntee will leave Gajaraj and go home with the farmer?

[1]

13

Give two examples to show that Gajaraj was very happy to have a friend.

[1]

14

Work in pairs.

Put a tick mark at the end of the phrases describing those who need to be rescued. Share your
answers with your teacher and classmates.

1. A man stuckin a building on fire. ()
2. Awoman buying vegetables in the market. ()
3. Adogwho has hurtits leg.()

4. Atree being cut downin a forest.()

[2]

15

What was unlikely about the friendship of Gajaraj and Buntee?

[2]

16

Write a paragraph in about 100 - 150 words on the topic A VisittoTheZoo .

[5]

17

Write a paragraph in 80 - 100 words on the topic Bad Effects of Watching Television.

[5]

18

Read the following passages carefully: - (1x5=5)

Dry fruits are useful in various diseases of the brain, muscles, and tissues. Particularly almond
has got unique properties to remove brain weakness and strengthen it. Almond preserves the
vitality of the brain, strengthens the muscles, destroys diseases originating from nervous and
bilious disorders. Walnut is another dry fruit that possesses wonderful qualities of curing brain
weakness. According to Dr. Johnson, almonds, figs, grapes, dates, apples, and oranges are rich
in the phosphoric element and should normally be used by brain workers. Phosphorus
nourishes the vital tissues of the body. It keeps the mind full of enthusiasm for more work.

1. Dry fruits are useful because they
a. strengthen our heart
b. cure various diseases of the brain, muscles, and tissues
c. give confidence to us
d. empower us to do challenging tasks.
2. Which one is not a property of almond?
a. It preserves the vitality of the brain
b. It strengthens the muscles

c. It destroys diseases originating from nervous and bilious disorders

[5]




d. It strengthens our digestive system.
3. Phosphoric element is profusely found in
a. almonds, figs, grapes, dates, apples, and oranges
b. almonds, figs, papayas, guavas, and pineapples
c. allthe green vegetables
d. seasonal fruits.
4. Brain workers should take fruits rich in phosphoric element because
a. theyremove brain weakness
b. they nourish the vital tissues of the body
c. they keep the mind full of enthusiasm
d. all the above.
5. The word unique means the same as
a. ordinary
b. highly qualified
c. unusual

d. enlightened.

19

Read the passages given below and answer the questions that follow: - (5)

A myth has been built around the pelican, one of the oldest surviving birds. It isa commonly
held belief that the mother feeds her chicks on her own blood. So people have regarded the
pelican as the most affectionate and dutiful bird.

The large bill of the bird makes it very easy to recognise it. It has a short tail, short legs, long
wings and a large bag under its bill. Because of its webbed toes, the pelican finds walking on
the land difficult.

However, it is a delight to watch these birds in flight. The pelican has figured among the
largest of all the birds. It has a wingspan of up to 2.75 metres and weighs between 4.5 and 11
kg. It lives in places with a moderate climate. It migrates to India, Africa and Iran in winter
because its wings do not give sufficient protection against the cold. The brown pelican is the
smallest of the pelicans. It dives its headlong into the water from quite a height to get at its
prey. The other six species of pelicans have white plumage.

Pelicans are very sociable birds. They travel, rest, nest and even fish together. The young
pelicans take wing when they are about two months old. The nests of pelicans are far from the
source of any food. Therefore, adults have to fly great distances to get food. Below you can
find a summary of the above passage. Fill in each blank with one word/phrase to complete
it. (1x4=4)

Pelican is one of the oldest (a) birds. It is believed that its young ones are fed by the
mother’s (b) . Perhaps due to this, the pelican is regarded as the (c) and
dutiful bird. It has long (d ) webbed feet and a very short tail. Pelican finds it difficult

to walk on land because of its webbed toes. It lives in places where the climate is moderately

[5]




cold. In all, there are sevenspecies of pelicans. Find the words from the above passage that
mean the same as: - (2x1/2=1)

1. enough
2. friendly
Section C

20

Read the following lines and answer the questions that follow.

“Are you missing your friend?” asked the farmer remembering the happy look on Buntee’s
face while sitting on the elephant’s back. “I cannot see you go hungry,” said the farmer, “If you
miss your friend so much, go to him.” The farmer removed the rope with which he had tied
the dog.

1. The farmer uses the word to refer to the elephant.

2. How did the farmer know that Buntee was hungry?

3. Why did the farmer remove the rope with which he had tiedBuntee?
4. Complete with one word:

Gajaraj : Buntee :: : farmer

3]
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Answer Key

Section A
1) a) your, hers

2) b) them
3) d) many
4) b) Neat

5) d) has

6) b) insulted
7) c¢) did

8) b)is

Section B

9) Rama Natha was angry because nothing happened to the copper vessel. He thought that the copper

vessel would change to gold after sprinkling the magic potion.

10) Reynard makes the Raven sing out of flattering only. He uses some words like ‘King’ just to flatter

the Raven.

11) a. Sentence type: Exclamatory
b. Sentence type: Exclamatory



12)

13)

14)

15)

16)

17)

18)

c. Sentence type: Interrogative
d. Sentence type: Interrogative

No, Buntee is unlikely to leave Gajaraj and go home with the farmer voluntarily. The story shows that

Buntee and Gajaraj share a deep bond and have become inseparable friends.

e QGajaraj shared his food with Buntee when the dog was hungry, showing his generosity and care.
o Gajaraj playfully splashed water on Buntee during their bath together, indicating their playful

and joyful interactions.

A man stuck in a building on fire. (v)

A woman buying vegetables in the market. (X)
A dog who has hurt its leg. (v)

d. A tree being cut down in a forest. (V)

o o

The friendship between Gajaraj and Buntee was unlikely because they were different species — an
elephant and a dog. Normally, elephants and dogs do not interact closely in natural settings. However,
their friendship blossomed due to their shared circumstances and the emotional bond they developed

through their interactions and mutual care.
A Visit to The Zoo

One day my friends and I went to see the zoo. We bought tickets and went in. First, we saw many water-
birds, ducks and cranes in a pond. On one side there were monkeys in different cages. In other cages,
lions, tigers, wolves and bears were kept. The lion was sleeping and the lioness was playing with her
cubs. They looked very fearful. They roared at us and we moved on. Then we come to the glasshouses.
Birds of different kinds and colours were kept in them. They were chirping. The white parrot and the

white crow were new for us. Lastly, we enjoyed an elephant ride and returned home.

Bad Effects of Watching Television

Television has become an essential part of every house. It is the cheapest source of entertainment.
Children find it very interesting. But it has bad effects also. Seeing it for long hours harms the eyes.
The students are left with less time to study. So their studies suffer. Many programmes influence young
minds in the wrong way. Foreign programmes are not in good taste. The youth are easily attracted

to them. They forget their own age-old culture. Their lives are spoiled. So television should be

watched under the guidance of the elders.

i.  (b) Dry fruits are useful because they cure various diseases of the brain, muscles and tissues
ii.  (c) Almond does not strengthen our digestive system.
iii.  (a) Phosphoric element is profusely found in almonds, figs, grapes, dates, apples and oranges
iv.  (d) all the above



v.  (c) The word unique means the same as unusual.

19) a. surviving
b. own blood
c. most affectionate
d. wings

1. sufficient
ii.  sociable

Section C

20) i Friend
ii.  The farmer noticed that Buntee had not touched his food since coming home with him. Hence

he could see that Buntee was hungry.

iii.  The farmer removed the rope because he empathized with Buntee’s longing for his friend,
Gajaraj. Seeing Buntee unhappy and not eating, the farmer realized that Buntee’s happiness lay
with Gajaraj. Therefore, he allowed Buntee to go back to his friend by removing the rope.

iv.  Mahout
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Section A

Complete the sequence: 20, 70,120, ___

a) 170
b) 160
c) 140
d) 150

[1]

complete the sequence: 102, 202, 302, .

a) 204
b) 420
c) 402
d) 303

[1]

Next term of 69,55,26,13, is
a)6
b) 8
c)4
d)5

[1]

What comes next in the pattern?
32, 30, 28, 26, ...
a) 25

[1]




b) 22
c) 23
d) 24

Assertion (A): The pattern 1, 4, 9, 16, 25 represents square numbers.
Reason (R): Square numbers are the product of a number multiplied by itself.
a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false.

d) A is false but R is true.

[1]

If two lines intersect each other at90? , they are called
a) Perpendicular
b) Straight Lines

c) Parallel Lines

d) Horizontal Lines

[1]

Which of the following angle is greater than a right angle?

o\
ol
5 /

b

[1]

Which of the following can be drawn on a piece of paper?
a) Aray

b) A plane

c) A line segment

d) A line

[1]

How many lines can be drawn through a given point?
a) Infinite
b) Zero

c) any one

[1]




d) Two

10

Assertion (A): Two lines that never meet are called parallel lines.
Reason (R): Parallel lines are always the same distance apart.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.

d) A is false but R is true.

[1]

11

Study the following tables and fill the empty cell:

415|61(7(8(9
354453

1]13]5]7|9|11
12(34|56

2.

[2]

12

Observe the followingpattern and answer the following questions:
1,4,9,16,25,..
1. Write thepattern rule for the given pattern.

2. Write the next threenumbers in the pattern.

[2]

13

Extend the pattern for the next three terms:
1. 6,10,7,11,8,12,2,2,?

2. A passes through the exact middle of a shape.

[2]

14

Name the angles in the given figure.

—

A

[2]

15

Draw a rough figure and write labels appropriately to illustrate each of the following:
1. OP and (O_Q) meet at O.
2. XY and Fé intersect at point M.

3. Linel contains points E and F but not point D.

4, Point P lies on AB.

[2]

16

While sorting erasers, Bhumi puts 2 erasers in 1st box, 4 in 2nd box, 8 in 3rd box, 16 in 4th
box. If this pattern continueshow many erasers bhumi puts in 5th, 6th, and7th box
respectively.

[3]

17

Read the following text carefully and answer the questions that follow:

A computer scientist works with binary numbers, which are based on powers of 2. The

[3]




sequence of powers of 2 starts as 1, 2, 4, 8, 16, 32, 64, and so on, doubling each time. These
numbers are fundamental in computing, representing data storage, memory addressing, and
binary logic. Understanding this sequence is crucial for tasks like binary arithmetic,
algorithm design, and digital systems, as it forms the backbone of how computers process
and store information efficiently.

1. What is the next number in the sequence after 64? (1)

2. How many times do you multiply 2 by itself to get 167 (1)

3. Explain what powers of 2 are and how they are calculated. (2)
OR

Write the first 7 numbers in the sequence of powers of 2. (2)

18 | What is a point in geometry? Give examples. [3]
19 | How many right angles do you make if you start facing [3]
1. south and turn clockwise to west?
2. north and turn anti - clockwise to east?
3.  westand turn to west?
4. south and turn to north?
20 | Which rule describe the following patterns. [4]
1. 1,636,216
2. 39,2781
3. 1,10,100,1000
4, 20,40,80,160
21 | How is a line segment different from a line and a ray? [4]
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Answer Key
Section - A
1. (b)Multiply by 10
2. (d)67, 60, 53
3. (b)20
4. (¢)85, 90, 95
5.(a)31
6.(d)A ray
7. (b)4
8. (a)Zero angle
9. (b)Two endpoints
10. (a)360°
Section B
11. Triangular numbers are formed by adding consecutive numbers (1, 3, 6, 10, 15 ...).

These numbers can form equilateral triangles when arranged in dots. Square numbers (1, 4,
9, 16...) are called so because they can form perfect squares when arranged in dots.



Cubes (1, 8, 27, 64 ...) are called cubes because they represent the volume of cubes with
integer side lengths.

12. (a)True
Explanation: True. Each number decreases by 6.

13. (b)False
Explanation: False, Pattern 10, 15, 20, 25 is starting with 10 and follow "add 5" rule, 10, 10
+5=15,15+5=20,20+5=25

14. There are more than one angle at P , that is, ZAPB,2ZAPC and £BPC . That is why it
can we can't say ZAPC as 2P .

Y

15. a. ZAOB > £XOY, because £XOY is contained in ZAOB. It means £XOY is a part of
£AOB.

b. ZAOB> £XOB, because £XOB is contained in ZAOB. It means £XOB is a part of
£AOB.

c. £XOB= £XOC, because both the angles are formed with the same rays.

16.75
17.1

Section C

18. Savan had been exercising.

on the 1st day he did 2 sit-ups,

2nd day he did 4 sit-ups,

3rd day he did 6 sit-ups.

Number of sit-ups Savan do on Istday =1 *2 =2
Number of sit-ups Savan do on 2nd day =2 *2 =4
Number of sit-ups Savan do on 3rd day=3*2=6
Pattern: 2,4, 6, 8, .......

Pattern rule: If we multiply 2 to the number of days.
we get the number of sit-ups.

Number of sit-ups Savan do on 20th day =20 * 2 =40
Number of sit-ups Savan do on 21st day =21 *2 =42



19. Librarian put 1 book on 1st row, 3 books on 2nd row, 6 books on 3rd row & 10 books on
4th row.

Books on 1st row =1

Bookson2ndrow=3=1+2

Bookson3rdrow=6=1+2+3

Bookson 4throw=10=1+2+3 +4

Here pattern is as follow:1, 3, 6, 10, ... (Triangular series)

Bookson Sthrow=1+2+3+4+5=15

Bookson 6throw=1+2+3+4+5+6=21

Bookson 7throw=1+2+3+4+5+6+7=28

20. Parallel lines never meet and remain the same distance apart (e.g., railway tracks,
notebook lines).

Perpendicular lines meet at a angle 90 °(e.g., walls meeting the floor, the edges of a book).
Both types of lines areessential in geometry, construction, and design.

21. A point is a precise location in space with no size, length, width, or height. It is
represented by a dot and is named using a capitalletter, such as Point A. Examples include:
The tip of a sharp pencil.

The point where two lines meet in a drawing.

The location of a city on a map.

Points are the basic building blocks of geometry.

22.
S. No. Pattern
1 2,4,6,8,10,12,14
2 1,3,5,7,9,11,13
3 3,6,9,12,15,18,21
4 4,8,12,16,20,24,28

23.Perpendicular lines intersect at a 90° angle, like the edges of a book. They form four
right angles at the point of intersection. Parallel lines never meet, no matter how far they
extend, like railway tracks or opposite sides of a rectangle .The key difference is that
'‘perpendicular lines meet at a right angle, whereas' 'parallel lines remain equidistant' and
do not intersect
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Section A

The camel stores excess fat in which part of the body?
a) Stomach

b) Hump

c) Lung

d) Liver

[1]

Which group of habitat is example of aquatic habitat?
a) Ponds, river, forest and sea

b) River, lake, ponds and oceans

c) River, grassland, ponds and sea

d) Sea, river, mountain and ponds

[1]

Thick fat deposits below the skin are useful in polar region to:
a) Provide energy in the absence of food

b) Make the body waterproof

c) Prevents heat loss

d) Make them strong

[1]

Which set contain only abiotic components?
a) Tiger, birds and lion
b) Stone, water and air

c) Stone, cat and temperature

[1]




d) Water, frog and man

Fish uses which organ to breath in water?
a) Mouth

b) Skin

c) Lungs

d) Gills

[1]

Food containing proteins are called
a) Body building food

b) All of these

c) Brain developing food

d) Energy giving food

[1]

This nutrient is most important for healthy vision:
a) Vitamin A

b) vitamin K

c) Calcium

d) Iron

[1]

Rickets is caused due to deficiency of
a) Vitamin D
b) Vitamin C
c) Vitamin K

d) Vitamin A

[1]

Which one of the following vitamin is destroyed during heating?
a) Vitamin A
b) Vitamin C
) Vitamin K

d) Vitamin D

[1]

10

Citrus fruits are source of which vitamin?
a) Vitamin B
b) Vitamin D
c) Vitamin C

d) Vitamin A

[1]

11

What are the two common sources of most of the ingredients of food items?

[2]




12 | Draw a diagram to show (a) herb, (b) shrub and (c) tree. [2]
13 | Write the importance of habitats? [2]
14 1. Listall the components of food that provide nutrients. 2]

2. Mention two components of food that do not provide nutrients.
15 | Write the functions of water in our body. [2]
16 | Show the adaptations of polar bear the help of a flow chart. [3]
17 | Find the odd one out and give reason also. [3]

3. Style, Ovary, Stigma, Anther

4. Tulsi, Mango, Guava, Eucalyptus

5. Beetroot, Potato, Carrot, Radish

6. Lamina, Mid Vein, Petiole, Root hair
18 | Define balanced diet? Is this same for all persons. [3]
19 | Boojho was having difficulty in seeing things in dim light. The doctor tested his eyesight and | [3]

prescribed a particular vitamin supplement. He also advised him to include a few food items
in his diet.

7.  Which deficiency disease is he suffering from?

8. Which food component may be lacking in his diet

9. Suggest some food items that he should include in his diet. (any four)
20 | List various types of nutrients and write the functions of each. [4]
21 | How would you test if a food item contains starch, protein, or fat? [4]
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Answer Key

1) b) Hump
2) b) River, lake, ponds and oceans

3) c¢) Prevents heat loss

4) b) Stone, water and air
5) d) Gills

6) a) Body building food
7) a) Vitamin A

8) a) Vitamin D

9) b) Vitamin C

10) ¢) Vitamin C



11) 1. plants
ii.  Animals

12)

(b)

13) Importance of habitat
a. Provide place where they can stay and rest.
b. Provide sufficient protection.
c. Provide place for breeding and rearing.
d. Makes available the required food.

14) a. Components of food that provide nutrients are carbohydrates, fats, and proteins.
b. Two components of food that don’t provide nutrients are water and roughage.

15) Water helps our body to absorb nutrients from the food. It also helps in removing the waste from the

body in the form of urine and sweat. We get water from various types of liquids, fruits and vegetables.
16) Flow chart
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= T - — -_""--.ﬁ.
— T — b
I < o g 3 W ‘n |
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Adaptations of polar bear.

17) Odd one is
a. Anther- all others are female parts of flower.
b. Tusli — all others are tree.
c. Potato — all others are modified root.
d. Root hair — all others are parts of leaf.



18) It is the diet that contains all the principle constituents of food in appropriate quantities required by the
body. In other words, balanced diet is the diet that nourishes the body with sufficient amount of
nutrients required by the body. Balanced diet comprises the components like carbohydrates, proteins,

fats, vitamins, minerals and sufficient amount of water. Balanced diet keeps our body fit and resistant

to diseases.
No, it is different for different persons. A worker needs more carbohydrates than protein.

A growing child needs more protein and minerals for growth and development.

19) a. Boojho is suffering from a disease known as night blindness.
b. Absence or minimum amount of vitamin A in the body causes night blindness.
c. He should eat papaya. carrot, green leafy vegetables like spinach, fish oil, etc.

20) The various types of nutrients are:

i.  Carbohydrates: They are mainly energy-providing nutrients.
ii.  Fats: They provide energy for the body. They give much more energy than carbohydrates if

consumed in the same amount.

iii.  Proteins: They are called body-building foods. Proteins help in the formation and repairing
of body parts. Skin, hair, muscles, enzymes are made up of proteins.

iv.  Vitamins: Vitamins help in protecting our body against disease. They also protect eyes, bones,
teeth and gums.

v.  Minerals: Minerals are essential for the proper growth of the body and to maintain good health.
21) To test for starch:

i.  Take a small piece of food (like bread or potato).
ii.  Add a few drops of iodine solution.
iii.  If it turns blue-black, starch is present.

To test for protein:
i.  Take a food sample (like milk or paneer).
ii.  Add copper sulfate and caustic soda.
iii.  Ifthe solution turns violet, protein is present.
To test for fat:
i.  Place a food sample (like butter or nuts) on paper.

ii.  Press it and check for an oily patch.
iii.  If the paper turns translucent, fat is present.
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Metalled, Unmetalled, Cart - road are the example of
a) Water feature

b) Roads

¢) Boundaries

d) Railways

(1]

Boundaries between different states are shown in
a) Relief Map

b) Vegetation

c) Political Map

d) Commercial Map

[1]

Map showing specific information such as roads, rainfall, distribution of forest called
a) Physical map

b) Political map

c¢) Thematic map

d) Conventional map

[1]

How many time zone India has?
a) Two

b) Three

c¢) Twenty four

d) One

(1]

1/4




The value of prime meridian is
a) 45° longitude

b) 0° longitude

¢) 60° longitude

d) 90° longitude

[1]

When the Prime Meridian of Greenwich has the sun at the highest point in the sky, all the places along
this meridian will have

a) Night
b) Morning
¢) Noon

d) Evening

[1]

Parallel of latitude of66 %o north is known as:

a) Tropic of cancer
b) Arctic circle
¢) Antarctic circle

d) Equator

(1]

Direction can be found with the help of the
a) Pole star

b) Magnetic compass

¢) Rising sun

d) All of these

[1]

The Equator does not pass through the which of the following:
a) South America

b) Asia

c¢) Africa

d) Europe

(1]

10

The longitude running through the Greenwich near London was first chosen as
a) Local Time

b) Local Meridian

¢) Standard Time

d) Prime Meridian

(1]

11

How symbols are useful in representing the places in maps?

(2]

12

What is the difference between the Torrid zone and the Frigid zone?

[2]

2/4




13

What is a map? Describe its major features.

(2]

14

Do you think that local time is important for a country?

[2]

15

What are longitudes?

[2]

16

Give reasons:
1. Ocean water is salty.

2. The quality of water is deteriorating.

(3]

17

What is the location of Pacific Ocean?

(3]

18

Why is Earth called the ‘Blue Planet’?

3]

19

What is global warming?

(3]

20

Two places A and B have been marked on the given outline map. Identify them and write their correct
names on the lines drawn near them.

1.  An ocean named after a country
2. Largest ocean in the word
On the same outline maplocate and label the following with suitable symbols.
1. Australia
2. North America

3.  Atlantic Ocean

(4]

21

Two places A and B have been marked on the given outline map of India. Identify them and write their
correct names on the lines drawn near them.

1. Group of Islands in the Arabian Sea
2. Group of Islands in the Bay of Bengal
On the same outline map of India locate and label the following with suitable symbols.
1. Port Blair
2. Indian Ocean

3.  Tamilnadu

(4]

3/4
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Answer Key

C

B

D

D 9. D

5. B 10. D

11 ) The symbols are useful in representing the places as:
i.  Itis not possible to draw on a map the actual shape and size of different features such as buildings,
roads, bridges, trees, railway lines or a well.

ii.  These symbols give a lot of information in a limited space.

12) The difference between the Torrid zone and Frigid zone are:

Torrid zone Frigid zone

This zone is very hot. This zone is very cold.

It lies between Arctic Circle and the
It lies between Tropic of Cancer and Tropic of Capricorn. |North Pole and Antarctic
Circle and the South Pole.

13) The Map is a representation of the earth’s surface or a part of it drawn on flat surfaces. Some common

features of maps include scale, symbols, and grids.

Scale: All maps are scale models of reality.

Symbols: Cartographers use symbols to represent geographic features.

Grids: Many maps include a grid pattern or a series of crossing lines that create squares or rectangles.

1/4



time of a region or a country. Local time is calculated by the position of the sun at noon of a given
place. The places lying North and South on the same meridian will have the same local time and the
places lying East or West of that meridian have different local times. It is important because the

time for any country is measured by the local time.

Longitude is a geographic coordinate that specifies the east-west position of a point on the Earth's
surface, or the surface of a celestial body. It is an angular measurement, usually expressed in degrees.
Longitudes are the angular distance from the Prime Meridian. Lines joining the North Pole and the
South Pole are called the lines of longitude. Longitudes help us in calculating time and locating the
place as well. The earth has been divided into 360 longitudes. The standard time is also based on

longitude.

i.  The water of the ocean is salty or saline as it contains large amount of dissolved salts.
Most of the salt is sodium chloride or the common table salt.

ii.  The quality of water is deteriorating day by day because of pollution of the rivers and also
because of global warming. The fresh water stored in the ice caps is melting because of rising
temperature. The water cycle is therefore distributed and fresh water available for drinking is

decreasing day by day.

The Pacific Ocean is the largest and deepest of Earth's oceanic divisions. It extends from the Arctic
Ocean in the north to the Southern Ocean in the south and is bounded by Asia and Australia in the
west and the Americas in the east. It is spread over one-third of the total area of the earth.

Mariana Trench, the deepest point on the earth lies in the Pacific.Asia, Australia, North and South

America surround it.

About three-fourths of the Earth's surface is covered with water. From space, the Earth appears

blue due to vast oceans. These oceans also play a significant role in regulating climate, supporting

marine life, and producing oxygen. Because of this, the Earth is often called the 'Blue Planet.'

Global warming is a long-term rise in the average temperature of the Earth's climate system, an
aspect of climate change shown by temperature measurements and by multiple effects of the warming.
Though earlier geological periods also experienced episodes of warming, the term commonly refers to

the observed and continuing increase in average air and ocean temperatures since 1900 caused mainly

2/4



by emissions of greenhouse gases in the modern industrial economy. In the modern context, the terms
global warming and climate change are commonly used interchangeably, but climate change
includes both global warming and its effects, such as changes to precipitation and impacts that

differ by region.

A. An ocean named after a country - India ocean
B. Largest ocean in the word - Pacific Ocean

Australia
North America
Atlantic Ocean

Arctic Ocean

2 o6

_—

North 5

America I
Eurasia

Adantic
Ocean

Pacific Pacific
Ocean i Ocean

! Australia
Indian Ocean

Southern Ocean \4

Antarctica

. Group of Islands in the Arabian Sea - Lakshadweep Islands
. Group of Islands in Bay of Bengal - A & N Islands

Port Blair
Indian Ocean
Tamilnadu
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